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BOHEERER SHGERE AN BB KSR AE(E2R)

% g R - KSR Bifr B 2 B i & B W =
EREIEE 769, 813
HiEIE®E 18,873 + 63,026 81,899
HBERER (R) 236,813 x 7.97% (7.97% x1.00) 18,873
RisEEE 255,686 x 24.65% 63, 026
TER 769,813 + 81,899 851,712
—RERESE 318,712 x 23.57% (23.57% x 1.00) — 6,832 68, 288
e ik 851,712 + 68,288 920, 000
E R 10,500, 220 + 385,477 10, 885, 697
EEAGE 10, 500, 220
EERE 385, 477
T DR 10,500,220 x 53.85% ( 35% + (1 — 35%) ) 5,654, 368
BRI 10, 885, 697 + 5, 654, 368 16, 540, 065
—RERESE 16,540,065 x 53.85% ( 35% + (1 — 35%) ) — 6,890 8,899, 935
KBS 16,540, 065 + 8,899, 935 25, 440, 000
B EHEAE 920,000 + 25, 440, 000 26, 360, 000
HEREELE 26,360,000 x 10.00% 2, 636, 000
FEIZRE 28, 996, 000




BHHEENRE SHGEE RS EBE KB MRRAEELR)

4 [ IR - WAKTiE By B = B {f & % =

EEIEZE 769, 813
BRI R 769, 813
BRI R 769, 813
BRI R 769, 813
BRI R 768, 778
1-1 BRI 0y U EREE R :1/20 1.00 110, 000 110, 000

=
1-2 BRIy O EERE 1.00 37, 600 37, 600

=
1-3 BAERRRME 1.00 423, 000 423, 000

=
1-4 BIEKREREE 1.00 140, 975 140, 975

=
1-5 BEKREREE 1.00 56, 400 56, 400

=
1-6 BERKEREEE (V9 ) — FRE 0.18 4,463 803

%)

m3
nnE 1,035
1-71 ong& 0.18 5, 750 1,085

m3
B[R 10, 885, 697
KRR RER 275 10, 885, 697
KRR RER 275 10, 885, 697
KRR RER 10, 500, 220




BHHEENRE SHGEE RS EBE KB MRRAEELR)

£ g g - BAKTE Bify H = B & % wmE
ERER 291, 900
2-1 EtE&E 1.00 291, 900 291, 900
=
Wi - e 404, 800
2-2 ERIGE 1.00 121, 800 121, 800
=
2-3 thfdsRE 1.00 104, 200 104, 200
=
2-4 SHR|E 1.00 178, 800 178, 800
=
BREE (2) 2,061, 100
2-5 BAERREE - BEO 1.00 860, 700 860, 700
=
2-6 RAFEEREE - BEQ 1.00 1, 200, 400 1, 200, 400
=
KRR RER 5,054, 100
2-7 EEEtEAT I+ - B L 1.00 497, 400 497, 400
=
2-8 JRIEETERATIT - ERobhL 1.00 339, 700 339, 700
%
2-9 EEREORED 2.00 1,067, 500 2,135, 000
r—2
2-10 RERFEDEEQ 2.00 305, 000 610, 000
r—2
2-11 REREDBERQ 1.00 243, 000 243, 000
r—2
2-12 AR 7 Ay ) RERR 4.00 234,100 936, 400
=2
2-13 K ERIERER 2.00 146, 300 292, 600
=2




BHHEENRE SHGEE RS EBE KB MRRAEELR)

% i H% - AR By B B B i & # W=

BIEEN 1,690,120

2-14 @R 1.00 291, 900 291, 900
=

2-15 SEAMYBE CHRIAY IV RE 4.00 146, 300 585, 200

RE) —2
2-16 FAHEIYBE (RERERR) 2.00 72, 660 145, 320
=2

2-17 RO’ 1.00 667, 700 667, 700
=

S 998, 200

2-18 EBERREFMN 1.00 998, 200 998, 200
=

[ERE2 385, 477

EBERRE 50, 477

2-19 FHARE 1.00 50, 477 50, 477
=

RR 290, 000

2-20 XBRERE 1.00 290, 000 290, 000
=

EIREE 45, 000

2-21 EIAER 1.00 45, 000 45, 000
=
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THeFEE AN B EFKERERFANEE2R

&5 :1-1
W EEIOy o EREE 1LY
2 b g - BIRTE By = B O ® # i
HETJOy o ER bt&! 6. 3tHE
= 1.00 110, 000. 00 110, 000
& Hi 1YE%HeRH 1,00 110, 000. 00 110, 000
&5 :1-2
W EEIOy O BRERE 1LY
2 b g - BIRTE By = B O ® # i
LEEXE
A 2.00 18, 800. 00 37, 600
& B 1E%HeH - 1.00K 37, 600. 00 37, 600
&5 :1-3
£ RAFEIIRME 1LY
2 b g - BIRTE By = B O ® # i
D 7o LA
= 1.00 423, 000. 00 423, 000
& Hi 1E%HeH - 1.00K 423, 000. 00 423, 000
&5 :1-4
£ F5  BEKEIRME 1LY
2 b g - BIRTE By = B Ol ® # i
LTEEXE
A 5.00 18, 800. 00 94, 000
=)
A 2.00 22,000. 00 44,000
BRKRED AR &
= 1.00 2,975.00 2,975
& Hi 1E%HeH - 1.00K 140, 975. 00 140, 975




Rifiz -/ \v7r—o

THeFEE AN B EFKERERFANEE2R

&5 :1-5
21 BERKENEE 1LY
2 b g - BIRTE By = B O ® # " =
LEEXS
A 3.00 18, 800. 00 56, 400
& B 1YE%HeRH 1,00 56, 400. 00 56, 400
&5 :1-6
& BEKEREE (329 )— FHER) m3Y Y
2 b g - BIRTE By = B O ® # " =
BERENEE (329 ) — FRER)
m3 1.00 4, 463. 00 4,463
& Hi EZEEH - 1.00m3 4, 463. 00 4, 463
&5 :1-1
2 WnE m3y Y
2 b g - BIRTE By = B O ® # " =
nne oV )— bk (/)
m3 1.00 5, 750. 00 5,750
& B 1YEZHEH - 1.00m3 5, 750. 00 5, 750
&5 :2-1
&% FrEEt 1LY
2 b g - BIRTE By = B Ol ® # " =
FEHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 1.50 57, 000. 00 85, 500
HEm (B) B
A 3.00 47, 200. 00 141, 600
& Hi 1E%HeH - 1.00K 291, 900. 00 291,900
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THeFEE AN B EFKERERFANEE2R

&5 :2-2
¥ BATHE HEED)
2 b g - BIRTE By = B ® # " =
FEHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 1.00 57,000. 00 57,000
& Hi 1YEZHEH - 1.00[E 121, 800. 00 121, 800
5 :2-3
& PRERE HEED)
2 b g - BIRTE By = B ® # " =
HEm (A) B
A 1.00 57, 000. 00 57,000
HEm (B) B
A 1.00 47, 200. 00 47,200
& Hi 1YEZHER - 1.00[E 104, 200. 00 104, 200
&5 :2-4
£ EW|E HEED)
2 b g - BIRTE By = B ® # " =
F{EHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 2.00 57, 000. 00 114, 000
& Hi 1YEZHER - 1.00[E 178, 800. 00 178, 800
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THeFEE AN B EFKERERFANEE2R

&5 :2-5
& RAEEREE - BEO 1LY
2 b g - BIRTE By = B O ® # " =
HEm (A) B
A 1.50 57,000. 00 85, 500
HEm (B) B
A 3.00 47, 200. 00 141, 600
HEm (C) B
A 6. 00 38, 400. 00 230, 400
g B
A 12.00 33, 600. 00 403, 200
& B 1YE%HeH - 1.00K 860, 700. 00 860, 700
&5 :2-6
& RAEHEREE - BEQ 1LY
2 b g - BIRTE By = B O ® # " =
HEm (A) B
A 2.00 57, 000. 00 114, 000
HEm (B) B
A 4.00 47, 200. 00 188, 800
HEm (C) B
A 8.50 38, 400. 00 326, 400
g B
A 17.00 33, 600. 00 571,200
& B 1E%HeH - 1.00K 1, 200, 400. 00 1,200, 400
&5 :2-1
2% KEEtET T - RS L 1LY
2 b g - BIRTE By = B Ol ® # " =
HEm (A) B
A 1.00 57, 000. 00 57,000
HEm (B) B
A 1.50 47, 200. 00 70, 800
HEm (C) B
A 3.50 38, 400. 00 134, 400
g B
A 7.00 33, 600. 00 235, 200
& B 1E%HeH - 1.00K 497, 400. 00 497, 400
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&5 :2-8
B REEFTERAT T - BRS L 1XEY
2 b g - BIRTE By = B 4 ) # " =
HEm (A) B
A 0.50 57,000. 00 28, 500
HEm (B) B
A 1.00 47, 200. 00 47,200
HEm (C) B
A 2.50 38, 400. 00 96, 000
g B
A 5.00 33, 600. 00 168, 000
& B 1YE%HeH - 1.00K 339, 700. 00 339, 700
5:2-9
& RBEORED 17—24Y
2 b g - BIRTE By = B 4 ) # " =
HEm (A) B
A 3.50 57, 000. 00 199, 500
HEm (B) B
A 7.00 47, 200. 00 330, 400
HEm (C) B
A 14.00 38, 400. 00 537, 600
& Hi YEZEREDN 1,005 —R 1,067, 500. 00 1,067, 500
= :2-10
& RBEORED 17r—2%Y
2 b g - BIRTE By = B 4 ) # " =
HEm (A) B
A 1.00 57, 000. 00 57,000
HEm (B) B
A 2.00 47, 200. 00 94, 400
HEm (C) B
A 4.00 38, 400. 00 153, 600
& Hi YEZEREDN 1,005 —R 305, 000. 00 305, 000
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THeFEE AN B EFKERERFANEE2R

&5 2-11
2% . RRROBES 1r—24Y
% g FE - BKTE BAL = B ® B & " %
HEm (A) B
A 1.00 57, 000. 00 57, 000
HEm (B) B
A 1.50 47, 200. 00 70, 800
Em (C) B
A 3.00 38, 400. 00 115, 200
& &t 1EERESN - 1,005 —R 243, 000. 00 243, 000
g :2-12
% g B - BKTE B4L = B ® B & " %
HEm (A) B
A 0.50 57, 000. 00 28, 500
HEm (B) B
A 1.00 47, 200. 00 47, 200
Em (C) B
A 1.50 38, 400. 00 57, 600
R 3
A 3.00 33, 600. 00 100, 800
& B 1EERESN - 1.005—R 234,100. 00 234,100
&5 . 2-13
£ RIEBIEEER 1r—24Y
% g B - KT B4L = B ® B i) " %
HEm (A) B
A 0.30 57, 000. 00 17,100
HEm (B) B
A 0.50 47, 200. 00 23, 600
Em (C) B
A 1.00 38, 400. 00 38, 400
R e
A 2.00 33, 600. 00 67, 200
& B EZBERN : 1.007—X 146, 300. 00 146, 300
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&5 :2-14
&7 . MRt 1LY
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 1.50 57,000. 00 85, 500
HEm (B) B
A 3.00 47, 200. 00 141, 600
& Hi 1YE%HeH - 1.00K 291, 900. 00 291,900
5 :2-15
£ RARYEE CHERIQYIRERER) 1r—24Y
2 b g - BIRTE By = B O ® # " =
HEm (A) B
A 0.30 57, 000. 00 17,100
HEm (B) B
A 0.50 47, 200. 00 23, 600
HEm (C) B
A 1.00 38, 400. 00 38, 400
g B
A 2.00 33, 600. 00 67,200
& B YEZEREDN 1,005 —R 146, 300. 00 146, 300
&5 :2-16
& AR Y EBE GRIETBIEEER) 1r—2%Y
2 b g - BIRTE By = B Ol ® # " =
HEm (A) B
A 0.10 57, 000. 00 5,700
HEm (B) B
A 0.30 47, 200. 00 14,160
HEm (C) B
A 0.50 38, 400. 00 19, 200
g B
A 1.00 33, 600. 00 33, 600
& B YEZEREDN 1,005 —R 72, 660. 00 72, 660
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THeFEE AN B EFKERERFANEE2R

&5 . 2-17
% BHRO®E 1LY
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET) B
A 1.50 64, 800. 00 97,200
HEm (A) B
A 2.50 57,000. 00 142, 500
HEm (B) B
A 5.00 47, 200. 00 236, 000
HEm (C) B
A 5.00 38, 400. 00 192, 000
& Hi 1YE%HeH - 1.00K 667, 700. 00 667, 700
=5 :2-18
£ EHBTERBEEER 1LY
2 b g - BIRTE By = B O ® # " =
HEm (A) B
A 7.00 57, 000. 00 399, 000
HEm (B) B
A 7.00 47, 200. 00 330, 400
HEm (C) B
A 7.00 38, 400. 00 268, 800
& Hi 1E%HeH - 1.00K 998, 200. 00 998, 200
&5 :2-19
&% EHARE 1LY
2 b g - BIRTE By = B Ol ® # " =
EXERARE
= 1.00 50, 477. 00 50, 477
& Hi 1E%Heh - 1.00K 50, 477. 00 50, 477
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&5 :2-20
2% EBHRRE 1LY
2 b g - BIRTE BT o = BHO(f ® W = " =
EBHRERERE
= 1.00 290, 000. 00 290, 000
& Hi 1YE%HeRH 1,00 290, 000. 00 290, 000
&5 . 2-21
L BIREE 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
EIREE
= 1.00 45, 000. 00 45, 000
& Hi 1E%HeH - 1.00K 45, 000. 00 45, 000




